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100 Questions

Que. 1 Pandit Birju Maharaj was associated with which of the following dance forms?

1. Kathak

2. Bharatanatyam
3. Kathakali

4. Charkula

Correct Option - 1

Que. 2 Which among the following is the oldest mountain/hill range in India ?

1. Himalayas

2. Aravalli Hills

3. Eastern Ghats

4. Western Ghats

Correct Option - 2

Que.3 Which of the following Veda mentions about music?

1. Atharvana Veda
2. Rigveda

3.  Yajurveda

4. Samaveda

Correct Option - 4

Que. 4 In November 2021, who has come up with his new book titled 'Sunrise over Ayodhya'?

1.  Vikram Seth

2. Kapil Sibal

3. Salman Khurshid
4, Kamal Nath

Correct Option - 3

Que. 5 Who among the following has been selected as the external auditor for OPCW in April 20217

1. Pragati Singh
2. G.C. Murmu
3. Mr. Manoj Kumar
4. Ratneesh Mahajan
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Correct Option - 2

Que. 6 Who was the Delhi Sultan who imposed a tax on Brahmins?

1. Firoz Shah Tughlaq
2. Muhammad Tughluq
3. Balban

4.  Alauddin Khalji

Correct Option - 1

Que. 7 RBIraise repo rate, what is its likely impact on Indian economy?

1. Inflation will decrease

2. Inflation will increase

3. Reverse repo rate will decrease
4. Loans will become cheaper

Correct Option - 1

Que. 8 An announcement by RBI for increase in Cash Reserve Ratio (CRR) means

1. Commercial banks will have less money to lend.

2. Commercial banks will have more money to lend.

3. Commercial banks will have more gold deposits with RBI.
4. RBI will have less money to lend.

Correct Option - 1

Que. 9 The original name of Tansen was

1. Makarchand Pandey
2.  Ramtanu Pandey

3. Lala Kalawant

4. Baj Bahadur

Correct Option - 2

Que. 10 Which of the following benefits is incorrect in the context of BHIM UPI (Unified Payments
Interface)?

FDI inflows will increase.
Effective direct transfer of subsidies to poor people

3. Mobile wallets will not be necessary, because your mobile number is directly linked with the bank
account.

4. None of the above is incorrect
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Correct Option - 4

GET IT ON
Google Play

Que. 11 'Who maintains the foreign exchange reserve in India?

1. Reserve Bank of India

2. State Bank of India

3. Ministry of Finance, Government of India
4. Export - Import Bank of India

Correct Option - 1

Que. 12 Who founded The Chola empire ?

1. Vijayalaya
2. Rajendra-I
3. RajaRaj

4. Vijayendra

Correct Option - 1

Que. 13  When was the revolt of 1857 started?

1. 10th May, 1857
2. 11th May, 1857
3. 12th May, 1857
4. 3l1st May, 1857

Correct Option - 1

Que. 14  Which river is also known as  Dakshin Ganga’?

1. Kaveririver

2. Godavari river
3. Krishna river

4 Narmada river

Correct Option - 2

Que. 15 The provision for separate electorate for Muslims was given in

1. Morley-Minto Reforms, 1909

2.  Montagu-Chelmsford Reforms, 1919
3. Communal Award, 1932

4, Government of India Act, 1935

Correct Option - 1
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Que. 16 Where is the Jain Gomateshwara statue located?

1. Mysore - Karnataka

2. Mandsaur - Madhya Pradesh
3. Shravanabelagola - Karnataka
4. None of the above

Correct Option - 3

Que. 17 Which of the following statement/statements are true about Budget 20227

1. Highlighting areas of Budget 2021-2022 were Manufacturing, Atmanirbhar Bharat, Healthcare
2. Mission Poshan 2.0 was proposed to be launched

1. onlyl

2. only2

3. land2

4. Neither 1 nor 2

Correct Option - 3

Que. 18 became king of Thanesar after the death of his father and elder brother.
1. Prabhakarvardhana
2. Chandragupta 1
3. Harshavardhana
4. Samudragupta

Correct Option - 3

Que. 19 What is common between Damodar river in Chotanagpur and Narmada in Vindhya and Satpura ?

1. Both have huge catchments

2. Both have common source

3. Both are used only for hydel projects
4. Both are flowing through rift valleys

Correct Option - 4

Que. 20 La. Ganesan was sworn in as the 21st Governor of which state on 20 February 2023?

1. Nagaland

2. Madhya Pradesh
3. Haryana
4

Mizoram

Correct Option - 1
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Que. 21  Which gas is needed for photosynthesis?

1. Carbon dioxide

2. Oxygen

3. Hydrogen

4. Carbon mono oxide

Correct Option - 1

Que. 22 Pick out the non metal which is a liquid at room temperature ?

1. Phosphorous
2. Bromine

3. Iodine

4., Carbon

Correct Option - 2

Que. 23  Which of the following is NOT a fossil fuel?

1. Coal

2. Wood

3. Petroleum

4. Natural Gas

Correct Option - 2

Que. 24 What is the SI unit of pressure?

1. Newton per metre N/m
2. Pascal Pa

3. Newton N

4. Newton metre N-m

Correct Option - 2

Que. 25 Polythene bags are made from

1. PET
2. LDPE
3. HDPE
4. PVC

Correct Option - 2

Que. 26 The mammal that lays eggs is?
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1
2
3.
4

Opossum

Otter

Kangaroo
Duck-billed-platypus

Correct Option - 4

Que. 27 Bryophytes are also called of the plant kingdom.
1.  Mammals
2. Amphibians
3.  Reptiles
4. Insecta

Correct Option - 2

Que. 28 Which among the following represents set of food item obtained from animals?

1

2.
3.
4

butter, mustered oil, moong
honey, milk, egg

egg, paneer, salt

honey, butter, carrot

Correct Option - 2

Que. 29 When a ball is thrown vertically upwards, which of the following quantities remains constant during its

1

2.
3.
4

motion?

Energy
Displacement
Velocity

Kinetic Ennergy

Correct Option - 1

Que. 30 Quality of the petrol used is expressed as

1
2.
3.
4

octane number
petro number

cetane number
calorific value

Correct Option - 1

Que. 31 Which enzyme is responsible for the breakdown of fats into fatty acids and glycerol?
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1. Lipase
2. Amylase
3. Maltase
4. Sucrase

Correct Option - 1

Que. 32 Milk is rich in many vitamins and minerals, except :

1. Iron, Vitamin-C
2. Iron, Vitamin-A
3. Phosphorus, Vitamin-C
4. Phosphorus, Vitamin-A

Correct Option - 1

Que. 33 Which material would you choose to wrap a box of ice cream to prevent it from melting in summers?

1.  Aluminium foil
2. Blanket

3. Nylon cloth

4, Plastic foil

Correct Option - 1

Que. 34 One of the following metal is mixed with iron to convert it into stainless steel. Which is that metal ?
1. Copper
2. Zinc
3. Chromium
4

Silver

Correct Option - 3

Que. 35 Respiratory pigment in human body is:

1. Chlorophyll
2.  Water
3. Blood
4. Hemoglobin

Correct Option - 4

Que. 36 1p g row of boys, Amar is 7% from the left and Vivek is 12 from the right. If they interchange their
positions, Amar becomes 22" from the left. How many boys are there in the row?
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1

2.
3.
4

19
31
33
34

Correct Option - 3

Que. 37 Select the option that is related to the third letter number cluster in the same way as the second letter

number cluster is related to the first letter number cluster.

LB4 : PH9 :: NF6 : ?

1

2.
3.
4

SJ15
TL13
RLI13
RJ11

Correct Option - 3

Que. 38 Select the option in which the words share the same relationship as that shared by the given pair of

words.

Electricity : Television

1

2.
3.
4

Petrol : Car

Temperature : Refrigerator
Crops : Farmer

Diesel : Fuel

Correct Option - 1

Que. 39 Sameer walks 20 meters towards north. Then he turns right and walks 30 meters. Then he turns right

and walks 35 m. Then he turns left and walks 15 m. Then he again turns left and walks 15 m. In which

direction and how many meters away is he from his original position?

1

2.
3.
4

35 meter, West
30 meter, East
45 meter, East
30 meter, South

Correct Option - 3

Que. 40 Direction: Read the given statements and conclusions carefully. Assuming that the information given

in the statements is true, even if it appears to be at variance with commonly known facts, decide which

of the given conclusions logically follow(s) from the statements.

Statements:

1) Some tables are chairs.

2) Some chairs are movies.
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3) All movies are spoons.
Conclusions:

1) Some tables are spoons.
2) No table is a spoon.

3) No chair is a spoon.

1. Only conclusion 2 follow

2. Conclusion 1 and 3 both follow

3. Either conclusion 1 or conclusion 2 follows
4. None conclusion follows

Correct Option - 3

Que. 41 Read the given statements and conclusions carefully. Assuming that the information given in the
statements is true, even if it appears to be at variance with commonly known facts, decide which of the
given conclusions logically follow(s) from the statements.

Statements:

All fruits are stems.
Some fruits are leaves.
Conclusions:

I. Some stems are leaves.

II. Some leaves are fruits.

1. Neither conclusion I nor II follows
2. Only conclusion I follows

3. Both conclusions I and II follow

4.  Only conclusion II follows

Correct Option - 3

Que. 42  Select the number from among the given options that can replace the question mark (?) in the
following series.

10, 11, 19, 46, 110, ?

1. 225
2. 235
3. 240
4. 234

Correct Option - 2

Que. 43 In a certain code language, ‘CISTERN?” is written as ‘SICGNRE’. How will ‘CLERGYS’ be written in

that language?
1. ECLRSYG
2. ELCKSYG
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3. ELCISYG
4. ELCRSGY

Correct Option - 3

Que. 44 In the following question below are given some statements followed by some conclusions based on
those statements. Taking the given statements to be true even if they seem to be at variance from
commonly known facts. Read all the conclusions and then decide which of the given conclusion logically
follows the given statements.

Statement:

I. Some B are C.
II. All C are F.

III. All B are D.
Conclusion:

I. All C are D.

II. Some F are B.
III. Some D are C.

1. Both conclusion I and III follows.
2. All conclusions follow.

3. Both conclusion I and II follows.
4. Both conclusion II and III follows.

Correct Option - 4

Que. 45 Find the missing term.

T C Q

1
2.
3.
4,V

Correct Option - 3

Que. 46 Six girls F, G, H, J, K and L are sitting in a row facing north (not necessarily in the same order). L and
K are sitting at extreme ends. Only G is between F and K. J is to the immediate left of H. G is to the
immediate right of F. What is the position of F from the left end?

1. Fourth
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2. Second
3. Third
4. Fifth

Correct Option - 1

Que. 47 Select the number from among the given options that can replace the question mark (?) in the
following series.

53,74, 95, 116, ?

1. 125
2. 137
3. 129
4. 143

Correct Option - 2

Que. 48 Select the option that is related to the third term in the same way as the second term is related to the
first term.

Water : Pump :: Blood : ?

1. Wound
2. Arteries
3. Heart

4,  Veins

Correct Option - 3

Que. 49 Five chairs K, L, M, P, and R are kept one above the other (not necessarily in the same order). P is just
below R. M is just below L and just above K. There is no chair above R. How many chairs are below

L?
1. 0
2. 3
3. 2
4. 1

Correct Option - 3

Que. 50 1y 3 class of 60 students, Arti's rank was 35™ from the top, and Bandana's rank was 39™ from the
bottom. So how many students were between Arti and Bandana?

1. 12
2. 13
3. 14
4. 11
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Correct Option - 1

Que. 51 Y is the husband of N, who is the mother of L. O is the father of X, who is the brother-in-law of N. L is

1

2.
3.
4

the granddaughter of M, who is the wife of O. Which of the following statement is true?

X is the aunt of L

N is the sister-in-law of X
M is the father-in-law of N
N is the son-in-law of M

Correct Option - 2

Que. 52 A mouse runs 20 meter towards East and turns to right, runs 10 m and turns to right, runs 9 m and

again turns to left, runs 5 m and turns to left, runs 12 m and finally turns to left and runs 6 m. Now

which direction is the mouse facing ?

1

2.
3.
4

North
South-East
East

West

Correct Option - 1

Que. 53 In a certain code language, 'RISE' is written as ‘QSHJRTDF’ and ‘FALL’ is written as ‘EGZBKMKM’.

|

2.
3.
4

How will 'KING' be written in that language?

JOHIMOFH
JLHIMORD
OLHIMOFH
JLHIMOFH

Correct Option - 4

Que. 54 Choose the alternative that best replaces the question mark (?) in the given figure.

el e

42
54
49
61
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Correct Option - 1

Que. 55 If a mirror is placed on line AB, then which of the given answer figures will be the correct image of the
question figure.

&

N

|

N

Correct Option - 4

Que. 56 The following questions are based on the relationship between different people and aspects related to

those relationships.
Pointing to a man in photograph, a woman said, “His brother’s father is the only son of my grandfather.” How is

the woman related to the man in the photograph?

1. Mother
2.  Aunty

3. Sister

4. Daughter

Correct Option - 3

Que. 57 In acertain code, GYM is coded as 2275, then how is KIT coded in the same way?

1. 1980
2. 1950
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3. 1970
4. 1960

Correct Option - 1

Que. 58 Choose the correct related word from the following options.
Elephant : Herd : : Lions :

1. Roost
2.  Troop
3. Pride
4. Pack

Correct Option - 3

Que. 59 Select the correct mirror image of the given combination when the mirror is placed at 'PQ' as shown.

P

My 7 0QFj§

Q
L3 00%Y vy M
2./ Ay O gt
3. 11 00 Y v M
4 W ANCO O Lk

Correct Option - 1

e

=

Que. 60 Deepak left his home and walked 4 km towards east, then turned left and walked 3 km to reach his
office. His sister Deepika left the same home, walked 16 km towards east, then turned left and walked
8 km to reach her college. What is the shortest distance between the office and the college?

1. 10km
2. 13km
3. 17km
4. 18km

Correct Option - 2

Que. 61 Select the letter-cluster from among the given options that can replace the question mark (?) in the
following series.

FIK, HKM, IMO, LOQ, ?
. NRQ
2. NQS
3. QNS
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4. SQN

Correct Option - 2

Que. 62 Given question has main statement followed by four statements. Choose the ordered pair of statements,
where the first statement implies the second, and the two statements are logically consistent with the
main statement.

The movie will either start on time or have a slight delay.
A. The movie will have a slight delay.

B. The movie will not have a slight delay.

C. The movie will start on time.

D. The movie will not start on time.

1. AB
2. BD
3. CD
4. CB

Correct Option - 4

Que. 63 Direction: Question below has a main statement followed by four statement labelled A, B, C and D.
Choose the ordered pair of statements where the first implies the second, and the two statements are
logically consistent with the main statement.

The package will either arrive tomorrow or the day after.
A. The package will arrive tomorrow.

B. The package will not arrive tomorrow.

C. The package will arrive the day after.

D. The package will not arrive the day after.

1. DA
2. CD
3. CB
4. AB

Correct Option - 1

Que. 64 Select the option in which the numbers shares the same relationship as that shared by the numbers in
the given set.

(32, 70, 108)

1. (44, 82, 124)
2. (34,72,122)
3. (42, 80, 118)
4. (38,76, 116)

Correct Option - 3
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Que. 65 Select the combination of letters that when sequentially placed in the blanks of the given series will
complete the series.

_EO_ _EOKY_O_YE_K

. YOEOYK
2. OYEEYY
3. YYEOKO
4. YKYEKO

Correct Option - 4

Que. 66 Sclect the option that is related to the third term in the same way as the second term is related to the
first term.

Bicycle : Wheels :: Bird :

1. Sky

2. River
3. Land
4.  Wings

Correct Option - 4

Que. 67 Select the combination of letters that when sequentially placed in the blanks of the given series will
complete the series.

I _Qz__X__1J]_QZ

1. UKQZQK
2. IQZUKI

3. JKIJQZK
4. JKQQZKI

Correct Option - 3

Que. 68 Select the correct mirror image of the given combination when the mirror is placed at MN as shown.

]

s
=

Qe l1fP54 NE
M

L Nhe9iT a0
2 MNre91T 90
S NhGHILl o0
4 Mhec9iT a0
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Correct Option - 2

Que. 69 Select the correct mirror image of the given figure when the mirror is placed to the right of the figure.

Do3mTUEN
L'MAuTméEoD
2 NEWTmEod
3 NIduTm3od
A MIAIuTméEod

Correct Option - 4

Que. 70 Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is
related to the first letter-cluster.

FLKU : VLMG : : DPIMR : ?

1. SOKRE
2. SNKQE
3. XQKNT
4. TNKOE

Correct Option - 2

Que. 71 Priya borrowed a certain sum at the rate of 12% per annum. If she paid Rs. 10176 at the end of 2 years
as interest compounded annually. What was the sum she borrowed?

1. Rs. 30000
2. Rs. 20000
3. Rs. 50000
4. Rs. 40000

Correct Option - 4

Que. 72 Find the value of question mark ‘?” in the following question.
40% of 4400 + ?% of 200 = 90% of 2840

1. 550
2. 398
3. 280
4. 320

Correct Option - 2
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Que. 73 The sum of LCM and HCF of two numbers is 1484 and the difference between LCM and HCF is.
1428. If one of the numbers is 112, then what is the other number?

1. 320
2. 364
3. 484
4. 306

Correct Option - 2

Que. 74 A person offers a 15% discount on his garments, and he offers a further discount of 10% on the
reduced price to those customers who pay cash. What will a customer have to pay in cash for a jacket

of Rs. 3,600?
1. Rs 3,240
2. Rs3,366
3. Rs2,754
4. Rs 3,060

Correct Option - 3

Que. 75 Cost of 8 pencils, 5 pens and 3 erasers is Rs. 111. Cost of 9 pencils, 6 pens and 5 erasers is Rs. 130.
Cost of 16 pencils, 11 pens and 3 erasers is Rs. 221. What is the cost (in Rs) of 39 pencils, 26 pens and
13 erasers?

1. 316
2. 546
3. 624
4. 482

Correct Option - 2

Que. 76 What is the least multiple of 13, which when divided by 6, 8, 10, 12 leaves remainders 1, 3, 5, 7

respectively?
1. 725
2. 715
3. 720
4. None of these

Correct Option - 2

Que. 77 A shopkeeper sold his article after two successive discounts of 50% and 20%. What was his loss
percentage if marked price of the article is 80% more than cost price of the article?

1. 10%
2. 32%
3. 16%
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4. 28%

Correct Option - 4

Que. 78 An amount of 210,000 becomes 212,100 in 2 years at a certain interest rate compounded annually.
Find the amount after 4 years.

1. z14,341
2. 16,461
3. 13,431
4. z14,641

Correct Option - 4

Que. 79 Sum of four consecutive odd numbers is 328. Find the largest number.

1. 85
2. 98
3. .79
4. 97

Correct Option - 1

Que. 80 The present ages of A and B are in the ratio 14 : 17. Eight years from now, the ratio of their ages will
be 6 : 7. What is the difference (in years) between their present ages?

1. 3
2.9
3. 12
4. 6

Correct Option - 4

Que. 81 The length and the breadth of the rectangular ground is 80 m and 60 m respectively. A2 m wide path
outside around it. How much wire needed to fence the path from outside?

1. 296m
2. 288m
3. 300m
4. 274m

Correct Option - 1

Que. 82 Which of the following is divisible by 17 ?

1. 1887
2. 2989
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3. 991
4. 2022

Correct Option - 1

Que. 83 Ifx =5 -2V6, then what is the value of Vx +(1/Vx)?

1. 5
2. 2

3. 243
4. 2\2

Correct Option - 3

Que. 84 A sum becomes 27 times in 3 years, compounded annually at a certain rate of interest. Calculate annual
interest rate.

1. 150%
2. 100%
3. 300%
4.  200%

Correct Option - 4

Que. 85 2 litres of a liquid having milk and water in the ratio 3 : 2 is mixed with 3 litres of a liquid having milk
and water in the ratio 2 : 3. Find the ratio of milk to water in the new mixture.

1. 9:4
2. 5:6
3. 12:13
4, 1:1

Correct Option - 3

Que. 86 A person bought a flat for Rs 17,30,000. He spent Rs. 40,000 on its painting and repairs. If he sells the
flat for Rs. 16,10,700, then what is his loss percent?

1. 83%
2. 9.0%
3. 95%
4. 8.8%

Correct Option - 2

Que. 87 George scored 94 runs in the 20th innings in a Match and thus increased his average by 2. Find his
average after the 20th innings ?
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1

2.
3.
4

54
58
60
56

Correct Option - 4

Que. 88 What is the area of a triangle with a base of 18 cm and height of 21 cm?

1
2
3.
4

189 cm?
328 cm?
195 cm?
378 cm?

Correct Option - 1

Que. 89 The weights of two friends Ranu and Shikha are in the ratio of 4 : 5. Ranu's weight increases by 20%

and the total weight of Ranu and Shikha together becomes 82.8 kg with an increase of 25%. By what

percent did the weight of Shikha increase?

1

2.
3.
4

29
30
31
21

Correct Option - 1

Que. 90 If a man invest Rs. 7200 at simple interest at the rate of 16%% per year for 2 years and compound

interest for 1 year and compounded half yearly. Then find the difference between Simple interest and

compound interest.

1

2.
3.
4

1250 Rs.
1150 Rs.
1100 Rs.
1200 Rs.

Correct Option - 2

Que. 91 A, B, and C start a business. A invest 33.33% of the total capital. B invests 25% of the remaining and

sl .

C invests the rest. If the total profit at the end of a year is Rs. 162000, then A's share of profit is:

Rs. 45670
Rs. 54000
Rs. 45000
Rs. 42000
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Correct Option - 2

Que. 92 The length of a rectangle is twice its breadth. If its length is decreased by 5 cm and breadth is increased
by 5 cm, the area of the rectangle is increased by 75 sq cm. What is the length of the rectangle?

| 18 cm
2. 16cm
3. 40cm
4. 20cm

Correct Option - 3

Que. 93 Three numbers are in the ratio 11 : 13 : 15. If the difference between thrice the third number and the
sum of first and second number is 441. Find the difference between the smallest and largest number?

1. 83
2. &4
3. 82
4. 85

Correct Option - 2

Que. 94 A shopkeeper purchases a packet of 60 pens at Rs.10 per pen. He sells a part of the
packet at a profit of 40%. On the remaining part, he bears a loss of 20%. If his overall
profit on the whole packet is 20% of, find the number of pens he sold at profit.

1. 40
2. 30
3. 20
4, 35

Correct Option - 1

Que. 95 Find the value of n for: (512)13 x 440 +3) 165 =27 - 352
. 0
2.

3. 2
4. -l

Correct Option - 2

Que. 96 There are three sections A, B, C in a school of class XII. The ratio of the students in section A and B is
3 : 5 and that in B and C is 4 : 7. If the total number of students in the class XII be 134. How many
students are there in section A?
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1. 23
2. 24
3. 25
4. 26

Correct Option - 2

Que. 97 A sum of money is paid back in two annual instalments of Rs. 1,25,000 each. If rate of interest is 6%
per annum and interest is compounding annually, then find the sum borrowed.(Consider round up
integral value)

1. Rs.1,50,375
2. Rs.2,39,174
3. Rs.2,29,174
4. Rs.1,19,375

Correct Option - 3

Que. 98 The traffic lights at four different road crossings change after every 15 sec, 18 sec, 27 sec and 30 sec
respectively. If they all change simultaneously at 6 : 10 : 00 hours, then at what time will they again
change simultaneously?

1. 6:14:30 hours
2. 6:40:00 hours
3. 6:14:00 hours
4. 10:40:00 hours

Correct Option - 1

Que. 99 Two vessels A and B contains milk and water in the ratio 7 : 2 and 17 : 1, respectively. In what ratio
mixtures from two vessels should be mixed to get a new mixture containing milk and water in the ratio
5:17

W NN =
N W = N

1

2.
3.
4

Correct Option - 2

Que. 100 The present age of the father is 5 times that of the age of his son. five years from now, If the sum of
the age of the son and his father is 70 years. After how many years from the present, the age of the
father is 3 times that of the son.

1. 20 years
2. 15 years
3. 9years
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4. 10 years

Correct Option - 4
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